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Question (1) (30 marks)

Please answer the following questions:

1- Explain the function of lysosome and three pathways by which materials are
moved to lysosomes. (drawing is required)

2- Mention genes altered in tumor with explanation.

3- Define apoptosis. morphology of apoptosis and explain the physiologic
apoptosis.

Question (2) (20 marks)

Please choose right or wrong with correction:

|- Viruses are non-living organisms outside their host and they cannot synthesize
proteins, because they lack ribosomes ( ).

2- The major component of the extracellular matrix in most animal tissues is fibrin
C )

3- TEM study the internal ultra-structure of the cell while SEM study the surface
structure of the cells ().

4- The cillia and flagella are extensions of the plasma membrane and are
supported by cytoskeleton ( %

5- The synthesis of fatty acids and phospholipids takes place in smooth ER and

rough ER ().
6- When the animal cell is placed in hypotonic solution, it will swell and rupture (
N

7- The acidity of the stomach lumen is due to presence of parietal cells that secrete
hydrochloric acid ().

3- Bacterial Transformation is a way of transfere of genetic materials by bacterial
viruses ().

9- Tumor-suppressor genes serve to stop, or slow. cell division by preventing the
cell from entering into the next cycle ( ).

10- A proto-oncogene is one that gives the cell the ability to proceed through the
checkpoints of the cell cycle without regulation ().

Good Luck to all of you




Full marks: 50
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Pages (2)

Kafrelsheikh University

Faculty of Aquatic and Fisheries Science
Subject: Statistical Computer Programs \
Time Allowed: 2 Hours ;
Code: 0110232

Answer the following questions:

Questionl: (10 degrees)
Check if the following variable names are (valid) or (not valid) in SPSS:
[ Variable valid not valid
$ABC
ABC.
AbC
A.BC |
T 12ABC ]
AB C
ABCI12
A1B2C1
aBC
ABSC
Question2: (35 degrees)
Complete the following:
d.
| | Fish_Size Fish weight
‘ 1 30 N Nalid [weseassues
2 20 Missing | ..oeveeeeee
3 Mean | eeeeeeeeen
4 [—_—> Median | ceeeeeenen
5 15 Mode | ceeeeieenn
- 50 s S P
7 ez Deviation
g 4 Variance | ceeieeneen
3 b y Range | ceeeeees |
ANOVA table for 19 observations in 2 different groups
Ss;‘:"f:; | df | Mean Square F Sig.
......................... 435 654

Between Groups
Within Groups
Total

------------

------------

(LAlal) A ALY BL)




(e —
»»p:riod Weekl-week2 l Count
’ | Expected Count
‘ Week2-week3
| Expected Count
] Week3-week4
| Expected Count
) Total Count
|  [Expected Count | cououeeseneen | onnensaneren Jossoemiosess
d.
When the correlation coefficient = -0.90, then there 1S4 Lussnonsnonre Y eovvansnnins) relation
between the variables.
€: i o van;lﬂ =
! “ variable1
2 B " :
Valid Ccumulative
3 Fregquency Percent
| Percent Percent
4 g 000 Fa | = | = i (R
I s E SR
- g | === = sl i
6 e
7 8 i > Valid C == Sl i
| s 0 2 B ] === || == = | = o
9 B Totat | N L
| 10 Missing System TR T
(- e T [ | M —
| 12 A

Question3: (5 degrees)

Write down the 5-steps for the following tests (use = 0.05):

Independent Samples Test

Levene's Tesl for Equality of Variancas
S F Sig di Sig. (2-tailed)
Equal vanances assumed 2824 110 1472 18 158
[ameter o
Equal variances not assumed 1472 16.836 159

Gl ALl g
Dy, Diana Thauwvat Mesa



Kafrelsheikh University
Faculty of Aquatic and Fisheries Sciences
Course: Meteorology

Date: May 28, 2019
Time: 2 hours

Total marks: 50 mark
Student name:

Academic level: 1 year, 2" semester B, e
Q. L. (20 mark)

A. Complete the following sentences: (10 marks, 2 for each point)
1- wviiininds formed when water vapour form hexagon shape.
2= s is used for measuring atmospheric pressure
3 e is the dust particle accumulation in atmosphere.
4-..covinsiimiiianninnnnnns. dEStroy ozone in atmosphere.
5-..........is the study of all the air around the earth

B. Compare between each of the following: (10 marks, 5 for each point)

1- Stratosphere and mesosphere.

2- Supergeostrophic and Subgeostrophic wind.

Q. Il. (30 mark)

A. Answer the following with (V) or (x) and correct the wrong one: (20 marks, 2 for each point)

1. Atmosphere represents 47% of earth radius.

2. Atmosphere contains about 87% nitrogen gas.

3. Carbon dioxide absorbs long wave radiation and prevents global warming
4. Measuring air temperature should be done 1.5 m above the ground
5- Sleet is formed when frozen water particles <5 mm in diameter

6- Atmospheric temperature is directly affected by altitude

7- Oxygen gas concentration in atmosphere =21 %

8- Weather is short period study of atmosphere

S-lithospher is the study of solid eart;w components,

10- Sea level pressure is equal to surface pressure

B. what will happen in these cases: (10 marks, 5 for each point)

1- Absence of nitrogen and replaced by oxygen in atmosphere

2- Combination of nitrous oxide with water droplets in atmasphere

All the best

P

Prof. Dr. Wael Eltras



Date: May 29, 2018
Time: 2 hours

Total marks: 50 mark
Academic number:
srudent name:

K afrelsheikh University

Faculty of Aquatic and Fisheries Sciences
Course: Behavioural Ecology (0110122)
Academic level: 37 year, 27 semester

Program: Aguaculture

Q.l.(20 mark)

- A. Complete the following sentences: (10 marks, 2 for each point)

T2 opesiasiciiizsReeans is the stimulus that perceived by extarnal sense organs.
T P anility of fish to maintain 3 constant internal environment.

e S ETYRE of pehaviour that should pe constant for 3/l members of each species.

. Hormonels responsiole for relationship of fish withn surroundmg anvironment and other fishes

J of the ecologicai anc &v olutionary basis £ar fish behavior.

the stut

g. Compare between each of the f_ollowing: (10 marks, 5 for each point)

~d catacromous fish. 2- Adultand fry food witndrawal of $ich before transport.

"
w

Anggromou

Q. Il. (30 mark)
4. Answer the following sentences with (V) or (x}: (20 marks, 2 for each point)
<¢izaine methane sulfonats redute’d fish stressduring transport
egific aggression resudl ited in intersexual selec ticn
3. Behavisural ECOI0BY relps in rep! id diagnosis < of fish diseases
4- Saxual imprinting save the fish generatibns
5. Fish swimming at tne bottom of tank is always @ sign of stress
5- All fish cannot controt the interns! boay temperature
7- Thereis3 negstive correlation between fish size ana feed particle size.
3- Mozambique tilapia body inclined to one side at an angle of 10-30 degrees 10 vertical during sleep.
9- Learning in operant cqnditioning does not needs trial and error.

10- Female tilapia may re-brood the hatched fry inits mouth during stress conditions.

s and answer with the correct scientific term: (10 marks, 2.5 each)

8. Please, read following sentence ;

1- Movemeant of fish from deep 10 surface water
2- Fish is swimming hysterically yvithout going anywhere
3-Fish are swimming near the water surface with air gasping

4-Transportation of fish in polyethylen2 pages containing oxygen

ALL THE BEST

@A ./\Aoww ac\)



v ] ‘i i Final Exam
Kafrelsheikh Cniversity :

Faculty of Aquatic and Fisheries Sciences Ac«;’dnuc };enrsszrfsﬂl 9
Department of Fish processingand biatechnology \_;gei 1 )é_ m
e e Time Allowed: 2 hours.

Code: 110108 ‘ :

Question one: Put (V) front right sentences and (X) froant wrong (10 marks)

1- Exploitation ratio is the ratio between the fish natural mortality and the fish
OTAL MOITALITY . 1ottt s b bbb ()

2-_In the catch. length at recruit always smaller than length at first capture....( )

3- Comparing to artisanal fisheries. industrial fisheries have low-technology and
b Bn L LU E e T O —

4- Ripe ovaries almost compressed. cloudy white and occupy the whole body

cavity of matpre TRMales o s v srvromme s ensmsmmon v ()

3- Accuracy in sampling is closeness of'a measured value to its true value....( )

Question two: provide the missing terms (10 marks)

mortality is estimated using L... k and the water temperature.

2- Trammel nets is classified as .oo...ovenn fishing gear.

3- . ..i.i...e......isthe variation from expected weight for length as indication

of fatness, general well-being and gonad development.
- 1s a measure of the rate at which an individual organism reproduces.

5- To test the hypothesis that observed annuli were formed once a year,

was considered with the monthly changes of the marginal

..........................

growth index.

-



Kafrelsheikh University
Faculty of Aquatic and Fisheries Sciences

Department of Fish processingand tiotechnology

Subject: Fisheries Biology.
Code: 110108

Final Exam
Acadmic Year 2018/2019
Pages (2), 50marks

Time Allowed: 2 hours.

Ouestion three: Match from column A to fit column B (10marks)

(A)
1) Fullness Index

(B)

a) technical measure for fisheries management.

2) Length frequency b) sizes of fish of similar age vary about a mean.

3) Minimum landing size  ¢) Approach for fisheries management.

4) Trophic level e} The position of an organism in the food web.

S)EAF ¢) full stomachs no. to total number of stomachs.

Question four: Replace X with correct symbol and identify the mean (10 marks)
1- X=logK~-2logL.

2- Y(Fecundity) =(W,- W) P'X

2- S(survival rate) = .

L

'
~

Il
2
%

‘.J'
r—1
1l
l|-‘|
-
[
'
i
N

Question five: Answer Onlv One Question of the following (10 marks)
1- Write in details about von Bertelanffy growth equation in length and in weight

and how can estimate its parameters (K, L., W, to).

’
2- Abstract your assignment report in only 10 sentences clarifying the main

points.

o

AT v Best Wishegmmos



Kafr El-Sheikh University Subject: Water and Wastewater Microbiological Analysis

Faculty of Aquatic and Fisheries Sciences Time: 2 hours , ' \
Date: 30/5/2019 ‘
Level: Two e
Winter Semester exam Full marks: 50  Pages: 1 M___
1-Write short notes on: [ 15 Marks]
1) Factors affecting microbial ecology in seawater. [8]
2) Common water born fungi. [3]
3) Factors affecting presence of infection (water born infection). [4]
2-Define the following: [ 16 Marks]
1) Waste water. 2) incidence rate.  3) Endemic microbe.  4)Reservoir.
5) Epidemiology. 6) HAV. 7) Mud Fever. 8) Morbidity rate.

3 —Mark the following sentences with (V) or (x) and correct the false sentence: [ 12 Marks]

1) Giardia lambalia is a water born protozoa. ( )
2) Encysted metacercaria is the infective stage of Brucellosis. ( )
3) Presence of algae in water ways increase the dissolved Oxygen rate. ( )
4) Contamination by waste water not affect the ecosystem. ()
5) Schistosomiasis is caused by ingestion of infected fish musculature ( )

6) Flowing of rivers and streams via rocks and sand provide natural filtration system

for contaminants. (G

4-Enumerate five water born patasites and discuss control of one of them. | 7 Marks]

GOOD LUCK
Prof. Dr./ Wael El-Tras



Date: 30/5/2019
Time Allowed: 2 Hour
Full Mark: 60

Kafrelsheikh University
Faculty of Fisheries
Second Year
Accounting Principles

Answer the following questions

Question One:
For each statement of the following, indicate whether it is Right
or Wrong with correction in case of wrong.

1. Accounting is one way important information about businesses
is reported to decision makers.

2. The Financial Accounting Standards Board (FASB) is the
private group that sets both broad and specific accounting
principles.

3. Generally accepted accounting principles are the basic
assumptions, concepts, and guidelines for preparing financial
statements.

4. A sole proprietorship is a business owned by one or more

persons.

A partnership is a business owned by two or more people.

6. Ownership of a corporation is divided into units called shares
or stock.

7. External users of accounting information include lenders,
shareholders, customers, and regulators.

8. Natural resources are assets that include standing timber,
mineral deposits, oil wells, and gas fields.

9. Depreciation is the process of allocating the cost of a plant
asset to expense in the accounting periods benefiting from its
use.

10.Salvage value is an estimate of an asset's value at the end of its
benefit period.

11.Plant assets' cost includes all normal and reasonable
expenditures necessary to get the asset in place and ready for
its intended use.

12.When a company constructs a building, the cost of the
building includes materials and labor, design fees, building
permits, and insurance during construction.

wn



13.The most frequently used method of depreciation is the
straight-line method.

14.The major elements of the income statement are revenue, cost
of goods sold, selling expenses, and general expense. N\

15.Limitations of the income statement include omitting items
that cannot be measured reliably are not reported.

16.Bookkeeping is the same as accounting.

17.Use of a multiple-step income statement will result in the
company reporting a higher net income than if they used a
single-step income statement.

18.Liquidity means the company ability to meet long term
obligations.

19.Solvency means the company ability to meet short term
obligations.

20.The balance sheet shows whether or not the firm achieved its
primary objective of earning a profit.

21.Internal users of accounting information include lenders,
shareholders, brokers and managers.

22.Notes receivable are classified as current liabilities.

23.Plant assets refers to intangible assets that are used in the
operations of a business.

24.Land held for future expansion is an intangible asset.

25.financial statement analysis does need standards for
comparisons.

Question Two:

In a table of a good format , indicate the full name and meaning
of each abbreviation of the following:

AAA, FASB, SEC, GAAP, AICPA, Assets, Liabilities, Equity,
Revenues, and Expenses.

’

End of the exam
With my best wishes &

3]



Kafrelsheikh University - Full marks: 50
Faculty of Aquatic and fisheries sciences Ks u Date 1/6/2019
Time allowed 2 hourrs.

Department of Aquaculture ~Kalrelsheikh_Universit

Subject. Ichthyology Tl jass faola Code : 0110102

Level: One Pages No.: one
Final exam during academic year 2018/2019

_  eexXam

Please answer the following questions:
** First question -: Complete the following sentences: (24 marks):

I- Fishes is used to T oA SR sam e TR
& mvenireadai » one of the largest Phylum of animal kingdom and the most important,
3- Vertebrates make Lo R of all described animal species,
4- Ichthyology is the branch Oflsass voen devoted to the SURAR BF v 05y vnn. oo

S- Fish liver is the main Source of liver oil containing ....., T

6- The.ivnnnnnnn of less resistant forms of friction during the floating fish in the water.
7~ Eelof real fish and is characterized by the ......... T s T T IR body.

S Pt B AU 355 rvceoms ssisemmmmsensesmengn
9- Extended fins on along the dorsal Line called ..v.yiii... e PRI
10- Fish mouth in general based two main IS a5 B e e cemes s
L1- Teeth are well deVeloped in ..c......vvevevrcinirirss T e fishes.
12- Each gill is SUPPOPERA DY . oiviiinsisiinsennrrensnns e s i ek e euen e nenens S o TIO
13- Closed branchial System is observed itt ...............,......... LT
14-Ampullae of Lorenzini QI cuvans T — Sound in cartilaginous fishes.
15-All cartilaginous Ll animals.

16- Fertilization in Cartilaginous fish is .........oorrerccssviun

7= Bony fish mouth is usually .........ooooonn =y (5 T —————

) £, CHR—— AEVES e SRR W is a fish carp covers her body completely by scales.
19-Mouth position in ciind bl e N S i
20- Catfish used as a Lo 74 — B e veniaes on the random breeding of tilapia.
21- Mortality rates Jor mullet fish in Sresh water ....oveuiiini than in T hinlip Muller.
22- Negative movement is the movement caused by the weooinioniniiiinneniiinssi
23-Fisn Speed can be divided ............... . 3OS SRR A e e 1 speed.
24- Fish migration Jrom the rivers 1o the seq Jor spawning like .......... T TP

“* Second question: (16 marks).

I~ Mention to some examples of fin fish mutations?
2- Fish farms specifications?

3- Most important types of tilapia fish ?

4~ What are different reasons for migration ?

* Third guesﬁon: Explained by only drawing with writing data (10 marks).

I~ Osmoregulation in Jresh water fishes.
2~ Gills Installation.
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— i ’ = rul marks: 50
Faculty of Aquatic and Fisheries Sciences K g Date: 9/6/2019
Department of Aquaculture .. KS &u. Level: Three
Subject: Nutrition of Aquatic Animals Ty Pages: one
Time Allowed: 2 hours Code: 0110111

Final exam during academic year 2018/2019

Please answer the following questions:
First question - Complete the following sentences: (20 marks):

1- Nutrition Involves .............. R raasesnman 2 (o SRERE of various nutrients.
2- Feeding Habits of Fish divided into four main categories ......, ....... & Wi ,and ...
3- Natural food includes ........... s s smasmcosts R AR
4- Complete feeds must be madeina...... which the fish find easy to eat and digest.
L . GG 5535525 . pesens snenes are the main inorganic elements in plants.
6- All proteins can be ‘denatured’ S i o, poaettd 5 Wssangurrs and ... by heavy
metal salts.
7- Globular proteins Include (o L AT o and.iisis,.,.... proteins.

8- Larval and juvenile fish generally have a higher protein requirement than sub-
adult and adult fish. '
2, PO QRIEND (FE) =cssisinssismpmmeismmsomsisnsigiim

........................................

13- Particle sizes of dry ingredients during manufacture should be below ..............
14-A ..o, mixer is most commonly used in the production of fish feeds.
15- The steam pelleting process involves theuseof ...t T [+ 11 o
16- A double pelleting system has been AEVEIOPRE 10 sisscsicisssisssispsereommmmmmesssismsiinssssins
17-in expander chamber the temperature can exceed .................... °C.

18- A pellets size of about ............. the gape of the mouth is advised.

19- For commercial grow-out ponds, FCRs should never goabove...............

20- Mechanical Feeding is suitablé for ... commercial fish farms.

** Second question: (15 marks, 3 marks for each point).

1-At present there is no quantitative information on the dietary EAA requirements
of shrimp, why?

2- Why water-soluble vitamins toxicities are unlikely?

3- Biological function of Phylloquinone & Sulphur & C opper?

4- What are different ypes of feed additives can be added to fish diets?

5- What are different criteria Jor judging Seeding response?

“* Third question: Explained by only drawing with writing data (15 marks).

A The role of natural Jood organisms and artificial feeds in the nutrition of fish
and shrimp within extensive, semi-intensive, and intensive pond culture
Systems. ’

B. Typical dose response curve.

C. Schematic representation of the steps involved in the manufacture of dry,

pelleted fish feeds.
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Kafr El-Sheikh University Subject: Zoonoses (Aquatic Animals Zoonoses)
Faculty of Aquatic and Fisheries Sciences Time: 2 hours
¥ Date: 10/6/2019
Level: Four
Winter Semester exam Full marks: 50  Pages: 1

1 -Mark the following sentences with (+§ or () and correct the false sentence: [ 15 Marks]

1) Zoonosis is a disease transmitted between human and animal. ( )
2) Brucellosis is a zoonotic disease caused by the fish tape worm. ()
3) Salmonellosis is a fish zoonotic disease causes severe fish mortality. ( )
4) Colibacillosis is a fungal zoonotic disease.

5) Heterophyes heterophyes is Gram negative zoonotic pathogen.

()
« )
6) Jaundice is clinical signs of Anisakiasis in human. ( )
7) Vibriosis is a zoonotic disease has no clinical signs in fish. ( )

C )

8) Clostridiosis is a parasitic zoonotic disease.

2-Write short notes on: [ 15 Marks]

1) Classification of zoonoses according to the type of life cycle. [6]
2) Types of carriers according to the portal of exit. [5]

3) IgM. ' [4] .

W

-Define the following: [ 10 Marks]

|

1) Amphixnoses. 2) Incubation period. 3) Pandemic disease

4) Convalescent carrier. 5) Prevalence rate.

4-Enumerate the followine: [ 10 Marks]

1) Factors affecting the occurregnce of the zoonotic disease (The problem).  [6]

2) Four fish diseases have zoonotic importance. (4]

GOOD LUCK
Prof. Dr./ Wael El-Tras



Kafr El-Sheikh University Subject: Diseases of aquatic invertebrates

Faculty of Aquatic and Fisheries Sciences Time: 2 hours
Date: 10/6/2019
Level: Four
Winter Semester exam Full marks: 50 Pages: 1
1-Write short notes on: [ 16 Marks]

1) Vibriosis Epizootiology.
2) lagenidium infection clinical picture.
3) NHP control and treatment.

4) Crustacean immune system.

2-Complete the following: [ 9 Marks]

)Crustacean cellular immune response includes 1-................ .. S S ems s
2) Red disease characterized clinically by 1-................... r
3) Black gill disease is a................0eoesnnnn ) disease caused by ....................
4) Case history suggests leucothrix disease include 1-........... vol=senii T T T
5) Presence of luminescence at night in ponds is a characteristic signof ...............
3-Write short notes on: [ 9 Marks]

1) Sky blue shrimp disease.
2) Histopathological examination of Taura Syndrome.

3) SMVD.

4-Clarify the host range naturally. mode of transmission, characteristic lesion and

picture of electron ) microscope of the following: [ 16 Marks ]

1) RDS. 2) GAY.
3) SEED. 4) YHD.
GOOD LUCK

Prof. Dr./ Wael El-Tras



Kafr El-Sheikh University Subject: Zoonoses (Aquatic Animals Zoonoses)

Faculty of Aquatic and Fisheries Sciences Time: 2 hours
Date: 10/6/2019

Level: Four
Full marks: 50 Pages: 1

Winter Semester exam

1 —Mark the following sentences with (] or (%) and correct the false sentence: [ 15 Marks]

1) Zoonosis is a disease transmitted betyween human and animal. ()
2) Brucellosis is a zoonotic disease caused by the fish tape worm. ( )
3) Salmonellosis is a fish zoonotic disease causes severe fish mortality. «( )
4) Colibacillosis is a fungal zoonotic disease.

5) Heterophyes heterophyes is Gram negative zoonotic pathogen.

¢ )
« )
6) Jaundice is clinical signs of Anisakiasis in human. ( )
7) Vibriosis is a zoonotic disease has no ciinical signs in fish, ( )

¢ )

8) Clostridiosis is a parasitic zoonotic disease.

2-Write short notes on: [ 15 Marks]

1) Classification of zoonoses according to the type of life cyele. [6]
2) Types of carriers according to the portal of exit. [5]

3) IgM. , " (4] .

3-Define the following: [ 10 Marks]

1) Amphixnoses. 2) Incubation period. 3) Pandemic disease

4) Convalescent carrier. 5) Prevalence rate.

4-Enumerate the following: [ 10 Marks]

1) Factors affecting the occurrence of the zoonotic disease (The problem).  [6]

2) Four fish diseases have zoonotic importance. [4]

GOOD LUCK
Prof. Dr./ Wael El-Tras
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Kafr El-Sheikh University
Faculty of Aguatic and Fisheries Scientt
Chemistry Department

Level gne students, Second term

Date; 11/6/2019
Time of exam: 2 NQprs
Score: 70

Organic Chemistry

1: Explain by Equations the mechanism of

(a)

(b) Isopropyl acetate

n-Buiane

(c) Propanone

(dy 33— Hydroxy hutanal

Answer The Following Questions

preparation of the following compounds:

{I: Write short notes on each of the following :

(1)  Pyrolysisof atkanes
(b) Geometrical Isomerism
(¢) Cannizzaro Reaction

(@) Chlorination of acelic acid

.1

L raw the struetures of the following compounds:

(a) 3,3-Dimethyl - 5 —isopropyl Octane

(by 1,

3 — Butadiene

(¢) Acstamide

(d) 2 -Propeuoic acid

v: (1) Write the chain isomers of n-Pentane ( TsHi ) ?

@)
(@)
()
©
()

Convert the following ( Explain by Equations ) :

1 - Propanol
Ethanol

Methane

Ethyiene

To
To
To

2 - Propanal

’ Todoform

Ethane

1,2 - Dihydroxy Ethanc



V: Choose the correct answer:

The reaction of 1—butene with HBr gives:
(a) 2-Bromo Butane (b) 1—Bromo Butane
(¢) 3-Bromo Butene (d) 4-Bromo Butene

Chlorination of Methane gives :
(a) Methyl alcohol (b) Formaldehyde

(¢) Chloro Methane (d) Formic acid

Hydrogenation of Ethylene gives @
(a) Eth'yl Alcohol (b) Acetaldehyde
(¢} Ethane (d) Ethyne

Boiling of n — propyl bromide with ethanolic NaOH gives:

(a) Propane (b) Propene
(¢) Propanol (d) Propyne

The IUPAC name of Dimethyl Acetylene is :
(b) Isobutane

(a) n- Butane
(d) 2 - Butyne

(¢) 2 - Butene

Hydrolysis of Acetonitrile in acid medium gives :
(b) Ethanol

(d) Ethanal

(a) Acetic acid

(c) Ethane s

The Functional group of Alcohols is :

(a) Carboxylic group (b) Methoxyl group

© Hydroxyl group (d) Carbonyl group

Polymerization of Ethyne gives
(a) Hexyne (b) Cyclohexane

©  Benzene (d) Cyclohexene

Good Luck Prof. Dr. Adel Attia

o



Kafrelsheikh University
Ks U Faculty of Aqua and Fisheries Science
Department of Fish processing and Biotechnology
3 2T Subject: Water and Wastewater Treatment
Kafrelsheikh University

. Date: 12/6/2019
ki 1o Aaal> Total Marks: 50

Answer the following questions: (20 marks) (only 4 questions)

1. Compare between membrane-filtration method and multiple tube method?

2. How could you determine lead in contaminated soil according to FAAS?

3. Write the equations related to sorption kinetics and isotherm?

4. What are the effect of climate .chan'ge and the fate of POPs in the environment?
5. What are the main advantages of the adsorption technique rather than others?

6. Describe briefly how could heavy metals exposure affects the human and plants,

and fish?

Define each of the following items: (15 marks)

a- Escherichia coli, b- Persistent organic pollutants

b- Control volume, phase, and proberty

0O
)

Process and cycle

d- Fluid and ideal gas

Comiplete the following sentences: (15 marks)

i. The different typ;es of pollutants are........cceceeveeeeirevicriceeiseen

ii. The colorin drinking water due to the presence of ..o sessinesens e
iii. What is the indicator used for the detection of chlorine in water...........cuenunuinn.
iv. Some of the different types of nano-adsorbents include.........cooccveveeeerrererrrseinnns
v. The two models of adsorption Kinetics are.......ccoivevecveivesinvennns

¢ %1/////1/ & /))1;7 CHMrecerr
GOOD LUCK
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KAFRELSHEIKH UNIVERSITY
FACULTY OF AQUATIC AND FISHERIES

SCIENCES Llaally
Course Name: Integrated Aquaculture Allowed Time: 2 hours
Level: Third Year Date: 12 June 2019

Final Exam of the Academic Year: 2018-2019
Answer the following questions: (50 Degrees)

1- The First Question:

A. Give examples for the following integrated aquaculture systems:
Complementary biochemical functions Integration - Temporal Integration - Spatial
Integration -Disease Preventing Integration - Rotary stocking and harvesting - Partitioned
Integrated systems

B. Summarize “El-Kram Integrated System” in diagram or text according to the logical
sequence of the stages.

C. Definition of the following expressions: Eutrophication — Aquaponics — Hydroponics

D. What does eutrophication cause?

2. The Second Question:

Advantages and disadvantages of Integrated Duck-Fish Farming System

Benefits of the trenches used in a rice-fish integrated system.

Give examples of the most important species of poultry and ducks used in integration
systems. :
Explain why raising duck in fish ponds reduces the demand for protein to 2 — 3 % in duck
feeds?

o Awp

3. The Third Question:
A. Advantages and disadvantages of Aquaponics system.
B. Agquaponics system components and system design.
C. Did aquaponics solve many problems facing the traditional hydroponic systems, explain?
D. Give examples (at least 7 species) of both Fish and Plants recommended in Aquaponics.
E. Vegetable crop production systems under aquaponics system?

»With my best wishes.

. Mohamed AbdolRahim
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Full marks: 50
Date 13-6-2019
Pages (2)

Kafrelsheikh University

Faculty of Aquatic and Fisheries Science
Department of Fish processing and Biotechnology
Subject: Aquatic Animals Genetics and Breeding
Time Allowed: 2hours

Code: 0110127

Question (1) (30 degrees)

a- Mention major enzymes involved in DNA replication and the function of each
enzyme.

b- Explain the alternative splicing of mRNA.

c- The effect of mutations differs according to the cell type, explain.

d- What are the major traits under selection in aquatic animal breeding

programmss?

Question (2) : (20 degrees)

Choose the correct answer:

1- A typical gene contains the information for: .
a- one specific protein i

b- two different proteins

C- more than two proteins

d- non of the above

2- The mechanism of replication of DNA discovered by Meselson and Stahl is:
a- semi-conservative replication

b- conservative replication

c- diepersive replication

d- non of the above

3- Bacteria, with their smaller, circular genomes, typically have:
a- a single origin of replication

b- multiple origins of replication

C- no replication in bacteria

d- non of the above

4- Shortening of telomeres during replication occur in:
a- leading strand

b- lagging strand

c- both strands of DNA !

d- non of the above

5- The elongation complex is composed of:

a- RNA polymerase+ template DNA+ the growing RNA.
b- RNA polymerase+ template DNA +growing DNA

¢- DNA polymerase+ template DNA+ growing RNA

d- DNA polymerase+ template DNA+ growing DNA



Full marks: 50
Date 13-6-2019
Pages (2)

Kafreisheikh University

Faculty of Aquatic and Fisheries Science
Department of Fish processing and Biotechnology
Subject: Aquatic Animals Genetics and Breeding
Time Allowed: 2hours oot
Code: 0110127

6- Degenerate genetic code means that:

a- more than one codon can specify the same amino acid. (this a.a. is called
synonymous).

b- each amino acid is specified by 2ne codon only

c- more than one codon can specify the same amino acid. (this a.a. is called non-
synonymous).

d- non oa the above

7- Silent mutations mean:

a- base substitutions that result in a new codon that codes for the same amino
acid.

b- base substitutions that result in codon that codes for a different amino acid
which have the same properties of the wild type protein.

c- base substitutions that result in completely different amino acid

d- both a-b

8- Mass selection is simple and works well when:

a- The heritability is high (> 0.3}

b- The population is large so that large selection differentials can be employed -
c- the heritability is low (< 0.3)

d- both a-b

9- High mutation rate in mtDNA than nuclear DNA is due to:
a- Insufficient DNA repair system

b- absence of introns

¢c- large amount of DNA proteins like histones

d- both a-b

10- The basic equation for genetic improvement which contains the components
of the phenotype is: s

a- P= G+E+GE

b- P= G+GE

c- P=G+E+C

d- P= G+T+GE

Good Luck,to all of you
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7 5 T i s il 33
.‘;;...._..__,J ( < 8] i e .J..\G)

| — S —— e & — e
|

Q1. [16 Marks] C
' 1.Draw Fischer projections of fructose and glucose indicate their CLASS, the CHIRAL CARBONS and

the NUMBER OF ISOMERS in each and D and L configuration. (4 Marks)

2. What is the importance of the oxidation by periodic acid in carbohydrates, with writing the
| equations. (2 Marks) (
'3. Draw the structure of the fatty acid (16:3n; A 5,8,14)? (2 Marks)

‘4. Give reasons: (8 Marks) N
'A. Arginine is called semi-essential amino acid however histidine is essential.

| B. Ovalbumin is act a storage protein in egg however albumin in human act as a transport protein, |
| C. Globular protein is water soluble while fibrous protein is insoluble, with example for each.
'D. The diet ofa person with PKU must contain some tyrosine and must also be limited in its

quantity of phenylalanine.

' Q2. COMPARE BETWEEN THE FOLLOWINGS IN SIMPLE TABLES: (20 Marks) |
| 1. Hydrolases, transferases and isomerases enzymes classes. |>
| 2. tRNA, rRNA and mRNA v ’
.: 3. Water soluble vitamin and fat soluble vitamins,

4. LDL and HDL with definitions and importance,
! 5. Major and trace minerals with examplesand functions.

Q3. PUT CIRCLE AROUND THE CORRECT ANSWER OF THE FOLLOWINGS: (14 Marks) ' |
ﬂ‘ 1. What best describes detergent?

a. their chemical formula is (CH,O)n h. they are ionic

c. they are proteins d. they form cell membranes

‘ )

l‘ 2. Blood sugar refers to

“ a. Ribose b. Glucose ¢, Laclose d. sucrose

i’i 3. In many proteins the hydrogen bonding produces a regular coiled arrangement called

(A) a-helix (B) B-Sheet  (C) Both (A) and (B) (D) None of these "
‘ 4. Sorbitol is: ”
‘,‘ a. a sterol b. an amino alcohol €. a sugar alcohol d. a glycerol derivative n

5. Nor-epinephrine is derived from @mino acids ........ and used as ....... ”
A. tyrosine, neurotransmitter B. arginine, sex hormones C. histidine, steroid hormone I

6. Humans are unable to digest
A. Starch B. complex carbohydrates C. denatured proteins D. Cellulose

: 7. Which of the following is not a compound lipid?
| a. Waxes b. Cephalin ¢. Lectin d. Phospholipids

' 8. Which among the following is saturated fatty acid?

| (a) Linolenic (3) Oleic (c) Stearic (d) Aspartic i
| e R G = I———
| s Sl e s /o i //L— Page 1
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9. The main lipid constituent of the cell membrane are u

a. Cholesterol| b. Triglycerides c. Glycolipids d. Phospholipids
10. Reduction of fructose with Cu** produces - (A) -
Sorbitol (B) Dulcitol - (€) Mannitol (D) Glucuronic acid ”
11. All the following compounds are formed from cholesterol EXCEPT ]
a.Vit, D b. Bile pigments ¢. Steroid hormones d. Bile acid \
12. Two molecules of vitamin A can be formed from 1 molecule of . |
(A) B-Carotene (B) a-Carotene (C) y-Carotene (D) All of these “
13. The semiessential amino acids .... “
a. cannot be synthesized in the body b. must be taken in some patients "
c. synthesized in the body in low concentration d. good for maintain growth and tissue.repair “
14. All are pyrimidine base EXCEPT is a. Thiamin b. Uracil ¢. Cytosine - d. Adenine "
15. If a DNA sequence consists of 12 nucleotides, how many mRNA codons will there be? “
A.12 b. 6 c. 8 d. 4 ”
' 16. Nucleotides in a single strand are linked to one another in nucleic acid by ‘)
a. hydrogen bond b. phosphodiester bond c. disulphide bond d. glycosidic linkage ‘!
17. Anticodon present in  a. DNA " b. tRNA c. mRNA d. rRNA H
18. Cholesterol is an: a. compound lipid b. simple lipid  c. derived lipid d. alcohols ”
19. Which substance yields more calories per gram on oxidation? l
A. Fats B. Carbohydrates C. Plant proteins D. Animal proteins ‘
20. What is the function of ATP, adenosine triphosphate? ‘
a. message carrier b. make proteins ¢. store and transport energy d. breakdown sugars |

21. Lecithins contain:

A. Glycerol, fatty acid, phosphoric acid, galactose

B. Glycerol, fatty acid, phosphoric acid, ethanolamine ,
C. Glycerol, fatty acid, phosphoric acid, serine . U
D. Glycerol, fatty acid, phosphoric acid, choline N

22. Vitamin A is stored mainly in “

A. Kidney B. Brain C. Liver D. adipose tissue |
23. Deficiency of thiamin causes: : \l
A. Scurvy B. Rickets €. Beriberi D. Pellagra '|
24. Pellagra can be treated with: , ‘
A. Pantothenic acid B. Pyridoxine C. Vitamin C D. Niacin |

|
25. Riboflavin is an alternative name for vitamin......... A.B1 B. B2 C.B12 D.B6

26. Which vitamin in most likely to be deficient in vegetarians?
A. Vitamin K C. Vitamin B12 B. Vitamin A D. Vitamin E

27. Which ane of the following is a result of vitamin B12 deficiency?

A. Rickets B. Pellagra C. Scurvy D. Pernicious anemia
28. Calcitirol is used in treatment of

a. infertility b. Pernicious anemia ¢ Pellagra d. Rickets
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Date: June 15, 2019

Time: 2 hours

Total marks: 50 mark

semester K:..._.,..".:. Academic number:
Student name:

Kafrelsheikh University
Faculty of Aquatic and Fisheries Sciences
Course: principles of aquaculture

Academic level: 1% year, 2™

Program: Aguaculture

qt s e sk R et a ! Q. 1.(20 mark) .
A. Complete the following sentences: (10 marks, 2 for each point) | e Rl At
1-1n case of-porous soil, pond bottom may be treated With........v.uiia s a i i e NALRE
2= vverereeeeeeen IS process by which decomposed materials is removed from pond bottom.
B ks is the main source of infection in the primary infection source. S VR 2 L
Beoooosoieirreeee e ds the stocking density of fish in semi-intensive system, TN ST O
55 samsseneneesar St FRISING aquatic organism up to final commercial production.

B. Compare between each of the following: (10 marits, 5 for each point)

1- Nursery pond and rearing tank (size and rearing.period).
2- Advantages and disadvantages of fish harvest using seine large nets.
Q. IL. (30 mark)
A. Answer the following sentences with (V) or (x): (10 marks, 2 for each point)

1. In polyculture fish farms, the cultured fish should have different feeding behaviour.
2. Water quality problems are not controlled in cage culture.

3. Fish harvest is comparatively easier in pen culture.

4. Pond corners should be rounded to facilitate harvesting.

5- Growth and health monitoring of fish should be done every 2 months.

6- Linear type race way system reduces spreading of disease.

7- Silt clay, clay-loam, rocky soils are suitable for a fish pond construction.

8- During dyke reconstruction, all grasses must be removed from dyke slop.

9- Rivaldi valve provides a fixed' water depth in fish pond.

10- Short food chain fish is not preferable for aquaculture.

B. What is the drawback of each of the following: (10 marks, 2.5 for each point)

1- Presence of more spines in fish species. 2- Hole is found empty in ground water test after 24 h.
3- The width of fish pond is 70 m. 4- Pond inlet pipe did not cover with screen filter.
All the best

Radi A. Mohamed



Date: 16/6/2019
Time of exam: 2 ho
Score: 50

Analytical Chemistry

Kafr El-Sheikh University
Faculty of Fisheries and
Aquaculi.re Science
Third Level Students

Answer the following questions
Question No. I: Define the following terms: (Score 10)

Concentration - Weight percent - Molar solution - Back titration — analyte — titrant —
Redox indicator — mole — Hydrolysis of salt — buffer solution

Question No. [I {Score 10)

A Define the neutralization curves and draw the following curves with mention the

suitable indicator in each case. (Score 7)
i) Strong acid and strong alkali ii) Strong acid and weak alkali
iii) Weak acid and strong alkali iv) Weak acid and weak alkali

(Score 3)

B - Write a brief description of Volhard’s method
Question No. IIT ‘ (Score 10)
i) Calculate the amounts of 90% and 10% solutions of H>SO, required for preparing
1600g of 40% solution? (Score 4)
if) What is the difference berween the equivalent and end points?

(Score 2)

iii) What is the Displacement Titration? Give example (Score 2)

iv) For an aqueous solution of a salt derived from weak acid and weak base, what is the
pH of this solution? (Score 2)

Question No. IV (Score 12)

i) What are the classes of the salts derived from acids and alkalis? Give examples for
(Score 4)

each case.

ii) Write the balance chemical equation describes the reaction between K.Cr,O- and
ferrous sulfate in acidic meédium. Clarify the oxidation and reduction processes and
determine the equivalent weight of K,Cr,O-. (Score 4)

iii) Write a brief account of types of EDTA titrations (direct and indirect) (Score 4)

Question No. V ' (Score 8)

Define the acid-base indicator and eXplain briefly how it does work? (Score 4)

What is your point of view for the following?

a) The difference between the strong and weak acid. (Score 2)
(Score 2)

b) An amphoteric substance; give example

Good luck
Prof. Dr. A. M. Ramadan
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KAFRELSHEIKH UNIVERSITY ) S )
FACULTY OF AQUATIC AND AaSanadl 55 8 4 sle 4315
FISHERIES SCIENCES Alaally

Allowed Time: 2 hours

Course Name: Marine Aquaculture
Date: 16 June 2019

Level: Third Year

Final Exam of the Academic Year: 2018-2019
Answer the following questions: (50 Degrees)

1- The First Question:
1. What are the scientific and Arabic names of the following marine fishes: European

Seabass, Gilthead Seabream. Meagre, and Grey mullet?
Advantages of Red tilapia and Atlantic salmon and dis-advantages of Meagre

- What are the standard criteria of any marine fish to be suitable for marine hatcheries?
What are the stages of anesthesia and the most common products used with concentration?
Describe in very short notes the ovarian developmental stages (2 and 5) of marine fishes.

o Lo

2. The Second Question:
1. Summarize the feeding protocol for any species of the Egyptian marine fishes during the

larval stage (write in 4 lines maximum)
The routes for administering spawning hormones and the most common hormones used for

2
marine fishes.
3. Advantages of induced spawning with hormones.
4. Is it possible to separate fry with or without swim bladder? How?
5. Disadvantages of manual counting of fish fry?

he Third Question:
The definition of inshore and Offshore Aquaculture.

T

1

2. The importance of Intensive marine aquaculture in cages.
3

4

]

The main components of Marine Fish Cages.
Advantages of using High-Density Polyethylene (HDPE) in Pipes and Brackets of marine

“fish cages. ;
Write short notes on the Best Management Practices for Feeds in marine cages.

W

With my best wishes

SDr. CMohaned Abdel(Rahim
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Academic year : First level
Course : Food Engineering

Kafrelsheikh University
Faculty of Aquatic and Fisheries Sciences

Final Exam (winter semester) Time : 2 hours
Lxam date: 18 /6/2019 Academic year 2018 — 2019 Full mark : 50 degree
Academic student mUMDEF: .........ccovvveviiiivieiiiiniasa SHIAGHE ARG wansssnunssssavisvaras

Ixaminers committee: Dr. Atef Mohamed Elsbaay

Answer the following questions :-

First Question:- Degree (12)

Choosec the correct answer :-

| -The value of w.ccviin property depends on the extent or the size of a system.
(A)Intensive  (B) Extensive  (C) Density (D) Porosity

LSOO is defined as the mass of particles of occupied by a unite volume.
(A)Bulk density  (B) Solid density ~ (C) Porosity (D) Mass balance

z. Conditions imply that time has no influence on the temperature distribution

within an object, although temperature may be different at different locations within
the object.
(A) Process  (C) Steady state (C) Unsteady state (D) system

4-1leating or cooling processes involving ........... may occur where the temperature
remains constant.
(A)l.atent heat (B) Sensible heat  (C) Heat capacity (D) Temperature

5- One of face a stainless steel plate | em thick is maintained at 110 °C and the other face
is at 90 °C. Assuming steady state conditions. The thermal conductivity of stainless
steel is 17 W/(m.°C). the rate of heat transfer per unit area through the plate
(A)34 kW (B)43000W (C)43 kw (D) None of the above

 S— Occurs between two surfaces by the emission and later absorption of
clectromagnetic waves.

(A)l'ree confection  (B) Force convection (C) Radiation (D) Conduction

Second Question:- Degree (19)
1- Define the follows:-
Moisture content - Relative humidity - LMTD

2- A membrane separation system is used to concentrate total solids (1S) in a liquid food
from 10% to 30%. The concentration is accomplished in two stages with the first stage
resulting in release of a low-total-solids liquid stream. The second stage separates the
final concentration product from a low-total-solids stream, which is returned to the first
stage. Determine the magnitudg of the recycle stream when the recycle contains 2% TS,
the waste stream contains 0.5% TS, and the stream between stages 1 and 2 contains

25% TS. The process should produce 100 kg/min of 30% TS. -
Third Question:- Degree (19)

|- Mention the assumptions for a tubular heat exchanger design?

2- One face of a stainless-steel plate 1 em thick is maintained at 110°C, and the other face
is at 90°C. Assuming steady-state conditions, calculate the rate of heat transfer per unit
arca through the plate. The thermal conductivity of stainless steel is 17 W/(m °C).
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[1]-
(2]-
[3]-
[4]-
(3]
[6]-
[7]-
(8]
[9]-

[10].
[11].
[12].
[13].
[14].
[15].
[16].
[17].
[18].
[19].
[20].
[21].
[22].
[23].
[24].

[25].

Choose the Most Correct Answer:

An electronic tool that allows information to be input, processed, and output.

A) Operating system B) Motherboard C) Computer D) CPU

A system in which multiple computers are connected to each other to share information.

A) CPU B) Operating System C) RAM D) Computer Network
The brain of the computer. This part does the calculation, moving and processing of information.
A) CPU B) RAM C) Motherboard D) Hard Drive

Part of a computer that allows a user to put information into the computer.

A) Output Devices B) Software C) Operating System D) Input Devices

A name for the short-term memory of the computer that is lost when the computer is turned off.
A) CPU B) Hardware C) RAM D) Processor

The physical parts of a computer.

A) Hardware B) Hard Drive C) Disk Drive D) Software

Parts of a computer that allow the user to see information that comes out from the computer,

A) Software B) Input Devices C) Output Devices D) Operating System
Another name for computer programs.

A) Software B) RAM C) Input Devices D) Hardware

Has a slot for internal network card where it is to be inserted.

A) Hard Drive B) Motherboard C) Operating System D) CPU

Central Processing Unit (CPU) consists of........... Unit.

A) control B) arithmetic and logic  C) main store D) All

Designed to satisfy a particular need of a particular environment.
A) Application software ~ B) Operating System C) Programming Lang D) Motherboard

The function of ........... in MS-Word is Copying the character formatting of a selection.

A) CTRL + Shift + C B) CTRL + Shift+ V.~ C) ALT + Shift + C D) ALT + Shift + C
The function of .......... in MS-Word is increasing font size one preset size at a time.

A) CTRL + Shift + > B) CTRL + Shift + < C) ALT + Shift + > D) ALT + Shift + <-
An example of an Input device is a:

A) Digital Camera B) Plotter C) Optical Disc D) Monitor

An example of an Output device is a:

A) Scanner B) Plotter C) Tapes D) Software

The size of the computer’s memory is measured by the number of:

A) Memory Space B) Bytes C) RAM D) ROM

In Spread Sheets values, formulas and Labels are stored in:

A) Ranges B) Functions C) Labels D) Cells

With which of the following all formulas in excel starts?

A)/ B) * C)= D) <

On an excel sheet the active cell in indicated by:

A) A dotted border B) A dark border C) A blinking border D) By italic text

If you press ........... , the cell accepts your typing as its contents.

A) Tab B) Ctrl + Enter C) Enter D) Alt + Enter

A Spreadsheet contains ...........

A) columns B) rows C) rows and columns D) None

How is data organized in a spreadsheet?

A) Rows and columns B) Layers and planes C) Lines and spaces D) Height and width
To insert three columns between columns A and B you would ...........

A) Select column A B) Select A and B C) Select B D) All

You can activate a cell by?

A) Pressing the Tab key ~ B) Clicking the cell C) Press an arrow key D) All

The intersection of row and column is called a ...........

A) dataset B) cell C) data D) set



)] In Excel, Columns are labeled as ...........
A)A.B.C, ... B)1:2.3 ... C) Al A2,...
In Excel, Rows are labeled as ...........
A).A,B,C;.... B)1,23 ... €) Al; A2,
- An Excel file is generally called a /an ...........

A) E-Spreadsheet B) Worksheet C) Workbook

- In Microsoft word, Which item is printed at the bottom of each page?

A) Header B) Foot Note C) Title
Selecting text means, selecting ...........
A) a word B) an entire sentence C) whole document

Which menu in MSWord can be used to change character size and typeface?

A) View B) Insert C) Home
Which key should be pressed to start a new paragraph in MS-Word?
A) Down Key B) Enter Key C) Shift + Enter

- Which option in File is used to close a file in MSWord?

A) New B) Close C) print
. In MSWord, what makes the selected text bold?
A)Ctrl + B B) Ctrl + S C)Cul+C

What is the function of CTRL+O in MS-Word?

A) Save document B) Open document C) Print document

. What is the function of CTRL+C in MS-Word?

A) Paste text B) Copy text C) Create graph

. What is the function of CTRL+S in MS-Word?

A) Save document B) Open document C) Print document

. What is the function of CTRL+P in MS-Word?

A) Save document B) Open document C) Print document

. In MSWord, what makes the selected text Italic?

A) Ctrl + B B) Ctrl + U C)Ctrl +1
. The function of ........... in MS-Word is Undoing an action.
A) Ctrl + Z B) Ctrl + U C) Ctrl + 1
. In MSWord, From which menu You can insert Header and Footer?
A) View B) Insert C) Home
In MSWord , If you need to underline a word 1] UL E——
A) Ctrl + B B) Cul +U C) Ctrl + 1
- In MSWord, what makes spelling and grammar check?
A) F7 B) F1 C) F12
- In MSWord, what Opening the Help pane?
A) F7 B) F1 C)F12
- In MSWord, what Opening the Save As dialog box?
A) F7 B) F1 C) F12
- In MSWord, what Creating a new document?
A)Ctrl + N B) Ctrl + S C)Ctrl+ C

. In MSWord, what Closing Document?

A) Ctrl + N B) Ctrl 4+ W C)Ctrl +C
. In MSWord, what Selecting the entire document?

A) Ctrl + A B) Ctrl + S C)Ctrl + C
. In MSWord, what Pasting the Selected Words?

A) Ctrl + B B) Ctrl + W C)Ctrl+C

In MSWord, what Cutting the Selected Words?

A) Curl + X B) Ctrl + S C)Ctrl + C

D) SAS1. $AS2....
D) SASI1. $AS2....
D) Sheet

D) Footer

D) All

D) Layout

D) Ctrl + Enter

D) Open

D) Ctrl + V

D) Close document
D) Move text

D) Close document
D) Close document
D) Ctrl + V
D)Ctrl+Y

D) Layout

D) Ctrl+ V

D) F8

D F8

D) F8

D)Ctrl+V

D) Ctrl + V
D)Ctrl+V

D) Ctrl + V

D) Ctrl + V
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All questions to be answered

Time allowed:
Full Mark: 50
Final Exam. 1 pa
Academic Number:

Group: (A) (32 Marks)
I- In detail explain the mechanism of : (9 marks)
1- Respiration in Australian lungfishes?
2- Sex reversal in tilapia?
3- Molting in shrimps?
I - What are the functions of: (9marks)
1- CCK in catfish?
2- Granulosa cell layer in in maturing follicles?
3- Hemolyph in shrimps?
II1- What's meant by: (6 marks)
1- Ram ventilators and obligate ram ventilators?
2- Oviviviparous fishes?
V- Correct the wrong sentence provided the first word(s) is correct. (8marks)
I- Ovulation in fish depends upon estrogen and progesterone
2- Copulatoy organ in shark is modified anal fin.
3- Heterophils increase in bacterial infection in fish.
4- Oval organ of swim bladder secretes gas.
5- Clasper is the male genital organ of teleost.
6- Haemolymph is a fluid in crabs' equivalent to blood in vertebrates.
7- Water hardening of eggs occurs in viviparous fish.
8- Micropyle gets access sperms to nucleus of oocyte.

Group: (B) (18 Marks)
1- Classify the fish according to types of water and migration (4 marks)
2- What is meant by osmoregulation? Explain that in Salmon? (6 marks)
3- Werite full account on the functions of Gonadotropins in eel (6 marks)
4- Give short notes on electric fish (2 marks)

byl (5 4B day (o p8Y Glata) -3 4L gals

Best Wishes
Dr. Shawky Mahmoud
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Time: 2h
Subject; General Physics 0110308 \

Total Marks: 50 written
Date: 23/5/2019
Exam in 3 pages |

Kafrelsheikh University
Faculty of Fisheries
Level 2 (Production)

Second Term 2018/2019
;'1(,5

Answer the following equations:

Question (1): (5 Marks)
A water hose 2.50 cm in diameter is used by a gardener to fill a 30.0-L bucket. The gardener notes
that it takes 1.00 min to fill the bucket. A nozzle with an opening of cross-sectional area 0.500 cm?

is then attached to the hose. The nozzle is held so that water is projected horizontally from a point
1.00 m above the ground. find the speed with which the water exits the nozzle?

Question (2): (5 Marks)
A 200-g block connected to a light spring for which the force constant is 5.00 N/m is free to

oscillate on a frictionless, horizontal surface. The block is displaced 5.00 cm from equilibrium and
released from rest.

(A) Find the period of its motion.

(B) Determine the maximum speed of the block.

(C) What is the maximum acceleration of the block?

. (D) Express the position. velocity, and acceleration as functions of time in SI units.

Question (3): (5 Marks)

The horizontal constricted pipe illustrated in Figure, known as
a Venturi tube, can be used to measure the flow speed of an
incompressible fluid. Determine the flow speed at point 2 if the
pressure difference P, - P; is known.

Question (4): (10 Marks)

Consider the flow of a segment of an ideal fluid of mass
) Point 2
m through a nonuniform pipe, as illustrated in Figure.

Deduce the Bernoulli’s equation in the form:

P + % pv’ + pgy = constant ’

Question (1): (25 Marks)

Choose one answer per question:

1- Simplified equation of continuity is represented as
A) A V| Asz B) A]Vz = Asz
C) A\Vi=AV, D) AV, =AV,

mea,i_ﬁﬁ@b)Alha,‘-awuaL_:JdLaS/;ﬁ;M\ Page 1
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2- The mechanical energy can be completely converted into heat energy but the whole of the heat
energy cannot be converted into mechanical energy. True or false?

A) True B) False

3- 50g of ice at 0°C is mixed with 50g of water at 80°C, final temperature of mixture of will be
A) 0°C B) 40°C
C) 60°C D) 4°C

4- If the displacement of a body is proportional to square of time then:
A) The body moves with uniform velocity.
B) The body moves with uniform acceleration.
C) The body moves with increasing acceleration.
D) The body moves with decreasing acceleration.

5- According to equation of continuity, when water falls its speed increases, while its cross sectional

area
A) Increases C) Decreases

B) remain same D) different

6- Bernoulli’s equation cannot be applied when the flow is

(A) rotational (B) turbulent

(C) unsteady ' (D) all of the above
7- Displacement is a

A) Scalar quantity B) Vector quantity

C) Base quantity D) Derived quantity
8- Adding of two vectors to get a single vector is termed as

A) Final vector B) Resultant vector

C) Dominant vector ’ D) Recessive vector
9- Volume is a

A) Scalar quantity B) Vector quantity

C) Base quantity D) Derived quantity
10- Mass, length, speed, work, time and energy are the examples of

A) velocity B) scalar

C) vector D) displacement

11- Identify the following quantities as scalar or vector: the mass of an object, the number of leaves on
a tree, wind velocity.

A) Vector, scalar, scalar B) Vector, scalar, vector
C) Scalar, scalar, vector D) Scalar, vector, vector

12- A vector whose magnitude is one is known as?
A) Position vector B) A null vector
C) A free vector D) A unit vector

13- Unit for specific latent heat is
A) Watts per Joule y B) Joules per Watt
C) Joules per Kilogram D) Pascal per Watt

14- Steam point is equal to 100 °C, which is equal to
A)-373K B)-173 K
C)373K D) 173K

15- The heat gained or lost by a body during a change of state is the product of its and the

specific latent heat.
a) True b) False

16- Amount of energy required to change the liquid to gas and vice versa without any change in
temperature is termed as

A) Latent Heat of Fusion B) Latent Heat of Vaporization
C) Heat Capacity D) Specific Heat Capacity

—_-_—_______‘__—_________———_———————————‘—'—____—_
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17- Heat given to a body, which raises its temperature by 1°C is
A) Water equivalent B) Temperature gradient
C) Thermal capacity D) Specific heat

18- A body is thrown upward and after some time the body reaches it’s maximum height, At
maximum height:

A. It’s velocity and acceleration both are zero.

B. It’s velocity is zero and acceleration is maximum.

C. It’s velocity is maximum and acceleration is minimum.

D. It's velocity is zero and acceleration is equal to acceleration due to gravity (g).

19- Frost is formed due to a change of state from vapor to solid.
a) True b) False
20- Which one of these thermometers is movable as well as simple to use?
A. Constant-volume gas thermometer
B. resistance thermometer
C. Thermocouple _
D. Mercury-in-glass thermometer
21- Freezing point of ethyl alcohol is 156 K, which is equal to

A). 426 °C B). 117°C
C).—426 °C D), =117%€
22- Burns are more injurious |J»= when caused by steam than when caused by boiling water.
A) True B) False
23- Liquid widely used in thermometer is
A) Water B) Lime
C) Copper (11) Sulphate D) Mercury

24- Latent heat of vaporization is
A) the amount of heat required to raise the temperature of a 1 kg of a substance by 1 K
B) the amount of heat required to raise the temperature of a substance by 1 K
C) the amount of heat required to change the phase of a substance from solid to liquid without any
change in temperature
D) the amount of heat required to change the phase of 2 substance from liquid to gas without any

change in temperature

25- Vaperization point and have the same numerical value.
A) fusion point B) solidification point
C) melting point a D) liquefaction point

slaa Aala 4l
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Question no. .?Lnswer Question no. Answer
1 A
2 B
3 C
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. Kafrelsheikh University

Faculty of Aquatic and fisheries sciences
Department of Fish processing and Biotechnology
Subject: Food Borne Diseases & Toxicology

Please Answer the following questions:

15 degrees, 5 0 each

| - In Table Compare between:

a) Somatic and Genetic damage radiation.

b) Types of Marine Biotoxins

c) Toxico-Infection of food and Potential Food Poisoning

(10 degrees . 5 of each)

2 - Write on the following:

a) What Are Marine Biotoxins ? And how to Control of marine biotoxins?

b) Use of the hormone 17a-MethylTestosterone (MT)

3- Give Reason for the following (10 degrees ., 5 of each)

a) Toensure that the seafood is not a vehicle for E. coli

ning is characterized by a short incubation period

(10 degrees, 0,5 of each)

b) Staphylococcus aureus food poiso

4- Choose the correct answer:

1- Wateris the second most common source Of i I evvessuaneaonns
A- Giardiasis B- Toxoplasmosis C- Polio D- None of the above

2. Creutzfeldt-Jakob disease (CJD) in humans is due to .eeeeenes
A- Rota viruses B-Prion C- Hepatitis A D- None of the above

3. Domestic and wild cats are the only definitive hosts for the intestinal or sexual phase of
B- Sarcocystis hominis

A- Toxoplasma gondii
D- Cyclospora ayetanensis

C- Cryptosporidium parvum

4- Residues of.. ....may persist in the environment and cause contamination through the food chain
A- Organochlorine pesticides B- DDT C- Hexachlorocyclohexane D- All the above
5. .o reported for hydrophobic chemicals having a tendency to partition from the water

column and bioconcentrate in aquatic animals

A- Bioconcentration Factor B- Biomagnification  C- Acceptable Dairy Intakes D- All the above

6- Carbamates @re ...

A- not persistent ' B2concentrated in the food chain. C- Non-chlorinated Insecticides
D- Both (A) & B) E- Both (A) & (C)
7-  PCBs can build up in the e of fish and other animals
A- fatty tissues B- muscles C- kidney D- blood
8- As dioxins are very difficult to be analyzed, so presence o) I are indicator for the presence
of PCDD.
A- PCBs B- Glucosinolates C- Heavy Metals D- None of the above
G- isssons exerts its toxicity by inactivating up to 200 enzymes especially those involved in cellular
energy pathways and DNA Synthesis and repair.
B- Arsenic C-Zinc D- None of the above

A- Mercury
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toxicity is manifested only when high concentrations are taken in single doses.

A- Aluminum B- Cadmium C- Cadmium D- None of the ahove
11- Zinc has been shown to have a detonate protective effect against ............... intoxication
A-Cadmium B- Cobalt C- Arsenic D- All the above
: [ T radiation are passed on to next generation
A- Genetic damage B- Somatic damage
C- Gamma radiation D- Sickness damage
13- Certain .....oursen.. can be reduced by irradiation.
A- proteins B- lipids C- carbohydrates D- vitamins
14- Trypsin inhibitor in fish is an example of ..............
A- Antivitamins B- Lectins C- Antiproteins D- Antiminerals
15- Goitrogenic is caused due to..........
A- Glucosinolates B- Oxalic acid C- Phytic acid D- None of the above
16- All of the following are antiminerals exceptiiuivi
A- Gossypol B- Lectins C- Oxalic acid D- Glucosinolates

17- Anti-thiamine factors are group of antivitamins interacting with ..............

18- .

20- ..

A- vitamin B6 B- vitamin B5 C- vitamin B1 D- vitamin C

suswennn.C3N be @ transient viraemia with an incubation period of 3-5 days and characterized by

headache, fever and sore throat.
A-Polio B- Prion C- C. parvum D- C. cayetanensis

............... kill or repel organisms that attach to under water surfaces, such as boat bottoms
A- Aligicides B- Antifouling agents C- Pheromones D- Defoliants

weeenen.37€ UNINtentially produced as byproducts of incineration and combustion process of

fuels, wood and industrial wastes.
A- Dioxins B- polychlorinated biphenyls C- Rodenticides D- None of the above

5 - Complete the following: (5 degrees)

a)

b)
<)

d)

The preservation of fish is a difficult challenge by radiation because of three main factors

Lonssnracrmiiiscm iiaie. T ampuansanenam s T

T
Factors associated with Salmonella food poisoning outhreaks 1-
e S R st e pomamn B o aonsass s s NG D VRS TESS

Prof. Dr. | Ibrahim Alhawary

Best Wishes



Course: Limnology
May.,22.2019.
Time Allowed: 2 hrs

Kairelsheikh Universiny
Facuity of Aquatic and Fisheries Science
Department of aquaculture

Answer the following questions:

Q1- Define the following : (2.5 degree )
1- Langmuir currents . 2- Vortices. 3- Volecanic lakes.
4- Fetch. 5- Zoobenthos.
Q2- Complete the following : (2.5 degree )
1- Classification of lake acc. to their mixing features into 1-....., GewER \
2- D Svaaes

TS B csvansaas s 3

3- Factors influencing fish distribution lake include l-v........... VO SRR e
I eesigiman sices s o - T .

+- Annual growth cyele of each phytoplankton species is modified by 1-........,
2 v - S ; e, T b

5- The extent of reflectivity of solar radiation deperdsion oo sssmmiivm
| AR S ST

Q3-Write on the following : (5 degree)

1- Major changes associated with increase level of GHGs on marine system .

2- Cynobacterial blooms ( causes & impact) . with diagram .

3- Various ways in which algae have evolved to overcome nutrients depletion &
grazing .

4- River originated lake &karstic lakes. With draw.

5- Effects of surface currents on lakes .

Best wishes
Dr. Mohamed Mamdoh



Kafrelsheikh University Faculty of Aquatic and Fisheries Sciences
Level: One Subject: Maine Botan y

Date: 25/05/2019 Time: 2 hours

Final exam during academic year 2018/20719 Full marks: 50 marks

Please answer the following questions (50 marks)

(1) Choose the correct answer (20 marks);

I~ One of the following is not present in blue green algae
a- Chlorophyll  b-Plastids c-Cell wall
2- Ability to fix atmospheric Nitrogen is found in;
a- Green algae  b- Red Algae ¢- Blue green algae
3- Heterocyst are
a- Green and thin walled b-Green and thick walled ¢-Colorless and thin walled
4- Two of the following sre green algae :
a- Volvox b-Chroveoceus ce-Ulva  d-Nostae
S-Algac is
a- Unicellular  b-Colonjal ¢-Filamentous  d-Al] of above (a,b.c)
6 Chlamydomonas and Voivox are similar hecause are
a- They both are motile b-They are members of the Chlorophyta

¢c-Both (a) and (b) d-None of these
7-The vegetative body of algae
a- Mycelium b-Pseudoplasmodium c-Plasmodium  d-Thallus

8-Agar, which is the solidifying agent in many bacterial culture media, is part of the
cell wall of
@ Pyrrophyta b-Rhodophyta ¢-Chrysophyta d-Chlorophyta
9- Frustules made of silica are characteristic of
a- Euglenoids  b-Anabaeng c-Diatoms  d-Seaweeds
10- Brackish water is:
@ amixture of seawater and freshwater  h-a mixture of polluted water and clean

water
¢- a mixture of tannic acid and seawater
(2) Put true (V) or false (x) , (12 marks)

L. Fucus a spherical, flagellated, colonial green algae.
Elodea is a genus of brown macroalgae
Sargassum is marine flowering plant,
Ceratopyllum one of the filamentous red algae exist in colonies.
The sexual reproduction in Anabaena occurred with antheridium and archegonium,
Lateral conjugation oceurs between two adjacent cells in the two filaments.
Diatoms store food in the form of a polysaccharide called leukosin
Chlamydomonas belongs to Division chlorephyta
(3) Compare between the following (with drawing land 3) (18 marks)
1. Spirogyra and Zygnema
2. Elodea and Eichhornia
3. Colony of Nostoc and Volvox

PN

- With my best wishes
N Dr. Khaled A, A bdelaal
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Kafrelsheikh University
Faculty of Aquatic and Fisheries Sciences Third Level
Subject: Applied Statistics Full Mark (50) Final Exam: 2 pages
Answer the following questions:
(26 marks)

(1)(a) Suppose we have a population consisting of the ages of four
children who are outpatients in a community mental health center. The ages

are as follows: 4,6, 8, 10. (i) Construct the sampling distribution of means

based on samples of size two selected with replacement. (ii) Find the mean

and the variance of the sampling distribution of means.

(b) A simple random sample of 10 apparently healthy subjects yielded the

following values of urine excreted arsenic (milligrams per day).

4 5 6 7 8 9 10
9.2 | 13.8 | 16.8

Subject 1 2 3
Value 3.9 46 | 15.6 | 105 | 16 6.7 12

Construct (i) 95 (ii) 99 percent confidence interval for the population

mean. (iii) Explain the difference in the confidence intervals calculated

in (i) and (ii).
Probabilities Under the t-Distribution Curve

d.f 1 2 3 4 5 6 7] 8 9
cl

95 [ 12.706 | 4.303 | 3.182 | 2.776 | 2.571 | 2.447 | 2.365 | 2.306 | 2.262

99 | 63.657 | 9.925 | 5.841 | 4.604 | 4.032 | 3.707 | 3.499 | 3.355 | 3.250

(c) Digestibility coefficients of a certain food provided to sheep and

cows are:
Sheep 61 55 62 49 59 56 57 -
Cows 52 53 58 47 50 51 48 49
Does this result indicate a true difference between the two species

given that the significance level is 0.1
t-test values

Degrees 5 6 7 8 9 10 11 12 13 14 15 16
of
freedom
P=0.1 202194 19 [ 186|183 | 1.81 | 1.8 | 1.78 | 1.77 1.76. | 1.75:| 1.75




(2)(a) Test the significance of the differences between the values

(24 marks)

of the following three groups given that the significance level is 0.05

A 13 9 8 7 3 5 v
B 11 7 6 5 4 3 .
C 10 8 6 4 3 2 2
F table for P = 0.05
Tw ] 4 ] 5 ] 6] 7] 8] 9 |10 ] 11]12]13[147]15
1 1771 | 6.61 | 5.99 | 5.59 | 5.32 | 5.12 | 4.96 | 4.84 | 4.75 | 4.67 | 4.60 | 4.54
2 | 694 | 5.79 | 5.14 | 4.74 | 4.46 | 4.26 | 4.1 | 3.98 | 3.88 [ 3.80 | 3.74 | 3.68

(b) To study the efficiency of insecticides on animals Ectoparasites, three

kinds were used. Test if the three kinds differ significantly given that

the significance level is 0.05

Insecticide | Cured | Non
A 72 16
B 42 10
C 34 13
Percentiles of the Chi-square Distribution
d.f 1 2 3 4 5 6
P=0.05| 3.84 | 599 | 7.82 | 9.49 | 11.07 | 12.59

(¢) Complete the following:

1- Any numerical value calculated from sample data is called

2- Sampling in which a sampling unit can be repeated more than once is called .....

oooooo

3- A 99% confidence interval for the mean can be interpreted to mean that .....

4- By decreasing the sample size, the confidence interval becomes ......

5. If the observations are paired and the number of pairs is n, then degree of

freedom is equal to

6- A statistician calculates a 95% confidence interval for p when o is known. The

confidence interval is 180 to 220, the value of the sample mean is ...

Best Wishes, M.M.Khalifa

2/2

N\



. ; 48 3l ' i)
) g1, 50! ¢ Al ,_J \ Lol agle o 4,
PR Tl daahadS g Sacd) ol Y 5alal) (R S iad

el s Gl

YN/ 0 /ev: Gl f )l S (ALY il Al Sl laial
EEGTR RPR- G-It TOYG /YA aalall alall

a.xm(\) SALLLY) Clada axe

i 2oy dbaas daaf falY adl il Jale /alay ; cudadaal) A

. - @U.n ‘UMMHA‘ \'
(Y ) daul 2 o La Jash o: Y d’jsud*
b bl ga O ) ALY A sy LA e g Gy
................................................ e A e Sl MY Gy - Y
S S S TR UJ* dhm\!lwﬂhs pudiig, &l o Juaty) Gy ¥
il e @uﬂi Cladlcipilan e L e dad ) Asadatl) 48, ) G s ¢
b S i b SN B Ayl g B L e BaLEl s oo
S Al e Gy 4l o A G
=S b (G5 )0l il G il o ) il s ¥ |

Al e pald Y bl iy oA

|
(YA) da ) . =2 A Jlpeal) ’
sk Laa JS il Bassa Jalii 3 <3 | |

Y Cagll Aaa b g i .Y

AaSad| dald Y el adbad LY

Al B Al aliad
Al 59 ) Aals Jlama o (s8I JUa) Bae o e el Jalgnd) ¢ |

DS Sua e A8y o JB ALl Ju2BY S5 pa Sand] Jaad) Jiae A BulE) Cilis) g -
i Sand) ZUY) clisadioal Sal ddee e 3 el Jalgad) -

diae (o8 Lol Sy (01 oY) el Al (o gty b o) 30 ¢ g ) et i el ila g -
AaSand] 5 g i) dgals

’

(1Y) Axal ; usu;dtwa
dh\_u,_g.\.ﬂuﬁwinJ_).dL\ua}g..\l!5JuJ’GAu}MdL~uY$UUJdL;a‘;SUMM

u‘ulﬁukdhﬂdjwimémjj dl&b\l\).ljim-hﬂuugha@bﬂlMUIUJG‘JWY\@UJ‘
,@Jm@d‘.uﬂ'




